SFR'SFRT Series

Technical Information

1. Inertial Moment Calculation Drawings
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Method involving calculation of load IL around rotary actuator axis when employing gears

o Gear
Rotary side (number of teeth) a
Load side (number of teeth) b
e Load inertial moment
N-m

Inertial moment around load
rotary axis

l= (%)ZL

The greater the
gear size, the more
it becomes
necessary to
consider the gear
inertial moment.
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olf rotary axis is offset from workpiece
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Cylinder
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Hollow cylinder

* When obtaining the inertial moment, first model the load and jig, etc., convert the shape to something simpler, and then calculate.
In the case of combined loads, calculate the individual inertial moments and add them up.
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